Rafiqul Store



Project by: Rafiqul Islam

Identified by- Abdullah Al Mamun Verified By: Md Sohel Rana Singair Unit Area-03 GRAMEEN TRUST

BRIEF BIO OF THE PROPOSED NOBIN UDYOKTA

Name	-	Rafiqul Islam
Age		12-09-1999 (18 years)
Marital status		Unmarried
Children		N/A
No. of siblings:	:	N/A
Parent's and GB related Info		
(i) Who is GB member	:	Mother $$ Father
(ii) Mother's name	•	Sufia
(iii) Father's name	:	Joynal Abedin
(iv) GB member's info	:	Branch: Baira, Centre # 53/m, Group no : 01 , Loanee no : 8097/2 , Member since: 1998- 2017, First Ioan: 10000, Existing Ioan: N/A . Outstanding: N/A.
Further Information:		Outstanding. N/A.
(v) Who pays GB loan installment	:	N/A
(vi) Mobile lady	:	N/A
(vii) Grameen Education Loan	•	N/A
(viii)Any other loan like GCCN, GKF		
(ix) Others		
Education		Class-Five

BRIEF BIO OF THE PROPOSED NOBIN UDYOKTA (CONT...)

Present Occupation	:	Grocery shop
Trade License No-		300
Business Experience	:	04 years
And Training Info	:	
Other Own/Family Sources of Income	:	Father (Farmer)
Other Own/Family Sources of Liabilities	:	N/A
NU Contact Info		01787-807322
NU Project Source/Reference	:	GT Singair Unit



NU's mother has been a Member of Grameen Bank since 1998-2017 (19 years). At first She took 3000 taka from GB.NU's Father invested GB Loan in his Vegetable Cultivate .NU's mother gradually improved their living standard by using GB loan.

PROPOSED NOBIN UDYOKTA BUSINESS INFO

Business Name	:	Rafiqul Islam
Address/ Location	:	Garadia, Singair, Manikgonj.
Total Investment in BDT	-	1,85,000/-
Financing	:	Self BDT 1,45,000/- (from existing business) 79% Required Investment BDT-40,000 /-(as equity) 21%
Present salary/drawings from business (estimates)	:	8000
Proposed Salary		8000
Proposed Business (i) % of present gross profit margin (ii) Estimated % of	:	20%
(ii) Estimated 70 of proposed gross profit margin (iii) Agreed grace period		20% 2 months

PRESENT & PROPOSED INVESTMENT BREAKDOWN

Particulars	Existing Business (BDT) (1)	Proposed (BDT) (2)	Total (BDT) (1+2)
Investments in different categories:			
(i) Different kind of stock items	105000	40000	145000
(ii) Furniture, Machineries and decoration	40000		40000
Total Capital	1,45,000	40,000	1,85,000

Present stock item

Particulars	No. of Item	Price per Unit (BDT)	Total Price (BDT)
Investment in different			
categories:			
Energy biscuit	2 cartoon	320	640
Tip biscuit			
	2 cartoon	340	680
Milk biscuit			
	2 cartoon	200	400
Chanachur	1/2bag	1700	1700
Bakary Item			5000
Parasuit oil	1car	5700	5700
Lux Soap	1car	1600	1600
Life boy	1car	1512	1512
Vimbar	24p	32	768
Wheel soap	2car	1000	2000
Chaka soap	1car	1000	1000
Pepsodent tooth powder	1car	12	500
pepsodent	1car	3500	3500
Sub total			25,000

Present stock item

Particulars	No. of Item	Price per Unit (BDT)	Total Price (BDT)
Investment in different categories:			
Close up	4 doz	600	2400
Faire & lovely	2 doz	840	1680
Benson cigarette	2 car	1800	3600
Gold leaf	4	1080	4320
Star	10	700	7000
Sheik	10	300	3000
Navy	10	700	7000
sugar	1bag	3500	3500
Теа			1950
Rice	1bag	2200	2200
Soft Drinks			10000
Ice-Cream		5000	5000
lentils	1bag	5000	5000
salt	5bag	550	2750
Soyabin oil	2 gal	10800	10800
samai	1bag	1400	1400
kerosene	2 gallon	8400	8400
Sub total			80,000
Total-1			1,05,000

Present Investment Breakdown

Particulars	No. of Item	Price per Unit (BDT)	Total Price (BDT)
i) Different kinds of Furniture			
Refrigerator	01	20000	20000
Fan	01	1500	1500
Light	02	250	500
Television	01	9000	9000
Weight Machine	01	2000	2000
Rak	02	3000	6000
Bench	02	500	1000
Total-2	-	_	40000
Total(1+2)			1,45,000



Proposed Stock items				
Rice	05 bosta	10000		
Sugar	02 bosta	7000		
Sola	02 bosta	7000		
Flour	02 bosta	4000		
Dal	02 bosta	8000		
Soft Drinks	10 case	4000		
Total		40,000		

INFO ON EXISTING BUSINESS OPERATIONS

Doutioulous		Existing Business (BDT)			
Particulars	Daily	Monthly	Yearly		
Sales (A)	3000	90000	1080000		
Less: Cost of sales (B)	2400	72000	864000		
Profit (C) [C=(A-B)]	600	18000	216000		
Less: Operating Costs					
Electricity bill		300	3600		
Night Guard bill		200	2400		
Mobile bill		300	3600		
Shop Rent		2000	24000		
Proposed Salary (Self)		8000	96000		
Entertainment		300	3600		
Others cost		300	3600		
Non Cash Item:					
Depreciation					
Expenses(7000*10%,33000*15%)		470	5650		
Total Operating Cost (F)		11870	142440		
Net Profit (E-F):		6130	73560		

		Year 1 (BDT)			Year 2 (BDT)		
Particulars	Daily	Monthly	Yearly	Daily	Monthly	Yearly	
sales	3200	96000	1152000	3500	105000	1260000	
Less: Cost of Sales (B)	25600	76800	921600	2800	84000	1008000	
Gross Profit (C) [C=(A- B)]	640	19200	230400	700	21000	252000	
Less: Operating Costs							
Electricity Bill		350	4200		400	4800	
Night Guard Bill		200	2400		200	2400	
Mobil Bill		350	4200		350	4200	
Shop Rent		2000	24000		2000	24000	
Proposed Salary (Self)		8000	96000		8000	96000	
Entertainment		300	3600		400	4800	
Others Cost		300	3600		300	3600	
Non Cash Item:							
Depreciation Expenses		470	5650		470	5650	
Total Operating Cost (D)		11970	142440		11870	142440	
Net Profit (C-D):		7230	87960		9130	109560	
GT Pay Back		24000		24000			
Retained Income:	63960				85560		

CASH FLOW PROJECTION ON BUSINESS PLAN (REC. & PAY.)

SI #	Particulars	Year 1 (BDT)	Year 2 (BDT)
1.0	Cash Inflow		
1.1	Investment Infusion by Investor	40,000	
1.2	Net Profit	87960	109560
1.3	Depreciation (Non cash item)	5650	5650
1.4	Opening Balance of Cash Surplus		69610
	Total Cash Inflow	133610	184820
2.0	Cash Outflow		
2.1	Purchase of Product	40000	
2.2	Payment of GB Loan		
2.3	Investment Pay Back (Including Ownership Tr. Fee)	24000	24000
	Total Cash Outflow	64000	24000
3.0	Net Cash Surplus	69610	160820

SWOT Analysis

STRE NGTH Long standing relationship with Grameen. Well Known Person in locality. Ownership of business	WEAKNESS lack of fund
O PPORTUNITIY No Opponent Party	THREATS fire theft





















ইউ, পি, ফরম নং-১৩ লাইসেন্স ফি আদায় পরিশিষ্ট-১৩ વાયતા રહેનિયન পরিষদ াকঘর ঃ বায়রা, উপজেলা-সিংগাইর, জেলা –মানিকগঞ্জ। ট্রেড লাইসেন্স 0124-22/20129 লাইসেন্স নং - ৩০০ প্রতিষ্ঠানের নাম'' মালিকের নাম ····· পিতা/স্বামীর নাম মাতার নাম····· ठिकाना उपर रहा উপজেলা 757 JAN 15.15. ব্যবসা বা পেশার ধরণ Grann হল্প টাকা ১৫% ভাট --- তিচা টাকা উল্লেখিত প্ৰতিষ্ঠানের অনুকূলে ইউনিয়নের সীমার মধ্যে আবশ্যকীয় ব্যবসা চালাইয়া যাইবার অনুমতি দেওয়া হইল। ৩০-৬-২০১৮ তারিখ পর্যন্ত অত্র লাইসেন্স বৈধ বলিয়া বিবেচিত হইবে এবং প্রতি বৎসর নবায়ন করিতে হইবে ১নং চেয়ারম্যান 759 22009 (मालमाम ১নং বায়রা ইউনিয়ন পরিষদ ১নং বাররা ইউনিয়ন পরিষদ সিংগাইর, মানিকগঞ্জ। িিংগাইর, মানিকগঞ্জ

"দেশপ্রেমের শপথ নিন, দুনীতিকে বিদায় দিন"

after cartered and teres terter an interest and safe

ו אוצורה לביים נטונהטוניים בעושי שניים איינטיר איישי איילואביארי ו - וואשאויה ווייזוגעוניונייני פעושי מעומיר שייער איינטיר איינטיר אייני - וואשאויה אוייזיאי וויזוגעווייזייים אויי איינטיר איינטיר אייניין איינטיר אייני ערועוגעי איינטיאי ואיינעווייזיייטייישי איינטיר איינטיר איינטיר אייניין

And a state of the state of the

300 6429668



sale eta ase que de la parte de la parte de la parte de la parte

are the pile i we share a ... du surfauts

1 2 estes - plied artes - cares in 2 - china - blich 10

えい あわら --

Alog on

י ושאע והשנעים של אני וה כ נפונה יהי לי ה של ואיני

-	1 . m
1	09 8
28	1 Gar
3/3	6 120
Sile	a W
P F	NR.
10 pt	0.000452

- And a trat. 2 alor party

2625626



গ্রামীণ ব্যাংক With the second se ৰায়ৱা সংগাহন পাৰ সহজ ঋণের পাশ বই নাম श्वणी नः 602 কেন্দ্র মিটিং ছাড়া ঋণের টাকা এককালীন জমার ক্ষেত্রে 0) গ্ৰদপ নং TEN কেন্দ্ৰ নং কেন্দ্রের নাম 51151 24929 ৰই ইস্যুৱ তারিখ 100 শাখা ব্যবস্থাপকের স্বাক্ষর set.

"মূল্য : ৫ (পাঁচ) টাকা মাত্র" "পাশ বই হারিছে গেলে বা নট হলে পরিবর্তিত বইবের মূল্য ঃ ৭ (সাত) টাকা মাত্র"

and and

ম্যানেজার/সেকেন্ড অফিসারের উপস্থিতিতে শাখায় এসে জমা **MA** 1

পাশ বইসহ আমানত রশিদ নিজের কাছে যতুসহকারে ٢. সরেক্ষদ করন্দ। হিসাব পরীক্ষার জন্য ব্যাংক থেকে পাশ বই গ্ৰহণ করা হলে, পাশ বই ব্যাংকে জমা দেয়ার পরবর্তী সাত লিনের মধ্যে ফেরং নিম।

